WHY DOES BRITAIN STILL HAVE AROYAL
FAMILY?

According to the video, are the sentences
below true (T) or false (F)?

1. The Queen is the Head of State.
QT QAF

2. She opens Parliament.
QT QAF

3. In theory, she could refuse to sign a bill.
T aF

4. Prince Harry has never received negative
media coverage.
QT QAF

5. Harry and Meghan’s marriage was viewed by more people than William and Kate’s.
QT QF

6. The Royal Family costs the taxpayer more money than it brings in from tourism.
QT AF

7. Prince Charles is heir to the throne.
QT QAF
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